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[£#88] % x =cosa ~ y=sina » x,=cosf ~ y,=sinf »

RIEs A(x, y1) ~ B(xy, 3,) £ R4 H *+y'=1k-

2 Y=y _sinf-sine -4 3
X, =X, cosfB-cosa % 4

B b EM AB 8 X ER B y=——%x+b °

RN y=-—%x+bﬁ}\ +yt=14 -12—65-38-% +(p*-1)=0> RS
16(5* -1 165 -9
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] gcosA+bcosB+ccosC =
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2abc [l6s a)(s—b)(s ~c)]
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a2+b2+02=3:>1—a +b e >3a*b*c? = abe <1

- @b * = (abe) < \/abc, wfﬁﬁz da?bic? = Jabe > a*b?c?
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5. B4 f(X) BNRSAX ELAANGBEELEAHER - wR f(1)=6> f(7)=3438 >
REnz R f(2) -

[£#m%) % f(X)=ax"+a, 3" +. . +ax+a, = f1=6 >
Bhath¥ ay,a,5.000, 50, € {0,1,2,3,4,5,6} >
X f(M=a T +a T +.taT+a,=3438c. (A)>

B 3438 R 7 B o 3438=1x7'+3x7 +1xT+1...... (B):
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3 AA3438=f(N=aT7 +a, 7" +.+aT+a,2a71 =>n<d >
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